2" Higher Seat-to-Floor Mounting Plate Assembly
Basic Tilt and Tilt Only

NOTE: Storm Arrow heavy duty bases come standard with 2" higher seat-to-floor assemblies. Non-heavy
duty bases are done as a "special” when ordered "on-chair" with the original order.

Mounting bar
reference only.

Storm base
reference only.



2" Higher Seat-to-Floor Mounting Plate Assembly

Basic Tilt and Tilt Only

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 0195302-NLA | NLA - Plate, Seat Frame Inner Mounting, Right (20" 1 1
S.T.F)
1 0195202-NLA | NLA - Plate, Seat Frame Inner Mounting, Left ( 20" 1 1
S.T.F)
2 0195502-NLA | NLA - Plate, Seat Frame Outer Mounting, Right (20" 1 1
S.T.F)
2 0195402-NLA | NLA - Plate, Seat Frame Outer Mounting, Left (20" 1 1
S.T.F)
3 0188202 Plate, Link Mounting (20" S.T.F.) 1 1
4 0139606-NLA | NLA - Screw, Hex Head (5/16-18 x 1") 1 2
5 0054906 Locknut, High Profile (5/16-18) 1 2
6 1072692-NLA | NLA - Lockwasher, Split (5/16") 1 4
7 0139806-NLA | NLA - Screw, Hex Head (5/16-18 x 3") 1 1
8 7930333 Locknut (1/4-20) 25 6
9 0050406 Washer, Flat (1/4 x 5/8 x 1/16") 1 12
10 0140406-NLA | NLA - Screw, Socket Head, Cap (5/16-18 x 1-1/2") 1 2
11 0052306-NLA | NLA - Screw, Hex Head (1/4-20 x 2-1/4") 1 5
12 0052206 Screw, Hex Head (1/4-20 x 2-1/2") 1 1
13 A 1072683 Retrofit Assembly, Raise Seat-To-Floor 2" 1 1

NOTE:

A - Includes items 1-12




